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100 Questions

Que. 1 Direction: The following question has four different sentences. Select the most preferable sentence
with respect to grammar, meaning, and usage. If all the four sentences are correct or all of them

are incorrect, mark "option 5" as your answer. 

Correct Option - 5

With over 1 billion users, Google Map is compatible on both desktop as well as smartphones.1.
Indian skipper Virat Kohli could scarcely contain his glee then he lost the toss and heard his New
Zealand opposite Kane Williamson choosing to bat first.

2.

Around 42 lakh individuals ride buses in Delhi daily on an average, according to official estimates,
around 33 percent of the total ridership comprises of women.

3.

Huawei was not mentioned by name in the British government’s statement, but British cybersecurity
officials said they always had treated the company as a “high risk” vendor.

4.

All are incorrect.5.

Que. 2 The following question has four different sentences. Select the most preferable sentence with
respect to grammar, meaning, and usage. If all the four sentences are correct or all of them are

incorrect, mark "option 5" as your answer. 

Correct Option - 1

I was upset when I learnt that I did not get the promotion but have since calmed down.1.
After fighting ensued between many leaders in the sports club, it was only a matter of days before the
club would disband and each teammate would find another team

2.

Since 7 January, the Park Circus Maidan in central Kolkata has been the site of a sit-in protest for the
Citizenship (Amendment) Act, 2019.

3.

The 70th anniversary of the establishment of diplomatic relations was judged to be the most ideal
occasion to launch a major renewal and strengthen the process of the bilateral relationship.

4.

All are incorrect5.

Que. 3 The following question has four different sentences. Select the most preferable sentence with
respect to grammar, meaning, and usage. If all the four sentences are correct or all of them are

incorrect, mark "option 5" as your answer.

Correct Option - 2

The officer asked him angrily whether he could not do that more neat.1.
The chief of staff was reported missing after he had returned to London from his visit to France.2.
The state's new policy to tourism is supposed to give the investors a big advantage.3.
The Congress had been largest party in the Indian politics at that time.4.
All are correct5.

Que. 4 The following question has four different sentences. Select the most preferable sentence with
respect to grammar, meaning, and usage. If all the four sentences are correct or all of them are



incorrect, mark "option 5" as your answer. 

Correct Option - 4

Depending in the weather tomorrow, we can decide the day’s activities along with the meal plan.1.
The opposition failed to get many help in its campaign to besmirch the Prime Minister.2.
It is his who is responsible for the downsizing in the department.3.
When carefully examined, it gave the police a clue to the mystery of the case.4.
All are correct5.

Que. 5 The following question has four different sentences. Select the most preferable sentence with
respect to grammar, meaning, and usage. If all the four sentences are correct or all of them are

incorrect, mark "option 5" as your answer. 

Correct Option - 3

Neither the cruelty of the king or the torture of the ministers could demoralise the peasants of
the kingdom or make them surrender to their demands.

1.

He kept the books on the table and forgot all about it before leaving to college.2.
In various parts of the tropical country, the ponds just dry up due to the scorching heat of the
summers.

3.

Once appointed by the Governor, the Council of Ministers is answered to the house.4.
All are correct5.

Que. 6 The question below comprises four scattered segments of a paragraph. Identify from among the
four choices the sequences that correctly assemble the segments and complete the paragraph.

A. However, engineers and developers have voiced apprehensions about building the underwater arena as it
poses many challenges which, at the moment, seem impossible to overcome.

B. Polish architect Krysztof Kotala has proposed to build an underwater tennis complex located offshore,
between the Burj al Arab and the Palm Jumeirah islands.

C. After boasting of a tennis court high up in the air built atop the 1,000-foot-tall Burj al Arab hotel, Dubai
has wooed an architect to test the waters for an underwater tennis court.

D. Designed with a massive curved roof, the undersea complex will spread out to hold seven courts. The
sports arena will also double up as an aquarium with a rooftop coral reef, which will put on display an
abundance of sea life for spectators as well as players.

Correct Option - 4

ACDB1.
BDCA2.
CADB3.
CBDA4.
BDAC5.

Que. 7 The question below comprises four scattered segments of a paragraph. Identify from among the
four choices the sequences that correctly assemble the segments and complete the paragraph.

A. Mr D Gautam's personality sets him apart the rest.



B. Nothing is too small for his attention
C. He has a fanatical devotion to detail.
D. This is what makes him a different guy.

Correct Option - 1

ACBD1.
ABCD2.
BDCA3.
DCBA4.
ACDB5.

Que. 8 The question below comprises four scattered segments of a paragraph. Identify from among the
four choices the sequences that correctly assemble the segments and complete the paragraph.

A. The main difference is that efficiency is a ration and effectiveness is not.
B. But they reach efficiency in a different way than American businesses.
C. The Japanese are very efficient and such concepts as ‘just in time’ are a witness to their efficiency.
D. They reach efficiency through the route of effectiveness.

Correct Option - 2

CBAD1.
CBDA2.
BCDA3.
BDAC4.
DABC5.

Que. 9 The question below comprises four scattered segments of a paragraph. Identify from among the
four choices the sequences that correctly assemble the segments and complete the paragraph.

A. In his first inaugural address he concluded with an eloquent plea; ‘Ask not what your country can do for
you--- ask what you can do for your country.’
B. John F. Kennedy, Democratic winner in the election of 1960, was at 43, the youngest man ever to win the
presidency.
C. On television, in a series of debates with opponent Richard Nixon, he appeared able, articulate and
energetic.
D. In the campaign, he spoke of moving aggressively into the new decade, for 'the New Frontier is here
whether we seek it or not'.

Correct Option - 2

ABCD1.
BACD2.
DBCA3.
DCBA4.
BCDA5.



Que. 10 The question below comprises four scattered segments of a paragraph. Identify from among the
four choices the sequences that correctly assemble the segments and complete the paragraph.

A. They found the stains of blood on an abandoned shirt in a dumpster in the next street.
B. The detective believes that the clues of a crime scene are hidden in the periphery.
C. So, against the word of the inspector, the search team spread out all over the area, checking small streets and
pathways.
D. Check the dumpsters and small streets, the detective said.

Correct Option - 5

BCDA1.
BACD2.
ACBD3.
ABDC4.
BDCA5.

Que. 11 Given below is a passage with five blanks (1-5). You are required to fill the correct word in the
blanks. If none of the options fit as the replacement, according to you, then select ‘None of 

these’ as your answer.
There was a __(1)___ in the city of Athens which gave to its citizens the power of compelling their daughters to
wed whomsoever they pleased; for upon a daughter's refusing to ___(2)___ the man her father had chosen to be
her husband, the father was ___(3)____ by this law to cause her to be put to __(4)____; but as fathers do not
often desire the death of their own daughters, even though they do happen to prove a little refractory, this law
was ___(5)___ or never put in execution, though perhaps the young ladies of that city were not unfrequently
threatened by their parents with the terrors of it.

Which of the following words is a suitable fit for blank 1?

Correct Option - 3

tradition1.
feeling2.
law3.
hope4.
pain5.

Que. 12 Which of the following words is a suitable fit for blank 2?

Correct Option - 2

please1.
marry2.
rob3.
kill4.
help5.

Que. 13 Which of the following words is a suitable fit for blank 3?



Correct Option - 1

empowered1.
devastated2.
mesmerised3.
emboldened4.
estimated5.

Que. 14 Which of the following words is a suitable fit for blank 4?

Correct Option - 4

misery1.
trouble2.
suffering3.
death4.
malice5.

Que. 15 Which of the following words is a suitable fit for blank 5?

Correct Option - 5

always1.
commonly2.
periodically3.
frequently4.
seldom5.

Que. 16 Read the passage and answer the questions that follow:
Mosquitoes can transmit pathogens that cause many human diseases, such as malaria, yellow fever,

dengue fever, chikungunya, and Zika fever. Many of these diseases can be physically devastating and even fatal.
For example, according to the World Health Organization (WHO), there are over 200 million new cases of
malaria per year worldwide, resulting in over 400,000 deaths, most of them children under the age of 5. Zika
fever is caused by a virus transmitted to humans primarily by the bite of Aedes aegypti mosquitoes. Symptoms in
infected human adults are typically mild, but if the virus infects a pregnant woman it can be transmitted to the
developing fetus and affect brain development, causing a condition called microcephaly. To reduce the number of
A. aegypti mosquitoes that may carry Zika virus, researchers at a biotechnology company called Oxitec have
produced genetically modified (GM) A. aegypti mosquitoes that when released into the wild, mate with wild
mosquitoes, and any offspring produced die before becoming adults.
The fluorescence gene is used to_________ GM mosquitoes. The lethality gene, which is more accurately called
tetracycline transcriptional activator variant (or tTAV), encodes a protein that blocks transcription of several
other genes that are essential to mosquito development. GM mosquito larvae that produce the tTAV protein die
before reaching maturity. However, the tTAV protein cannot prevent the transcription of other genes when it is
bound to the antibiotic tetracycline. Therefore, tetracycline acts as a repressor of the lethality gene, or, in other
words, its antidote. In the lab, the GM mosquito larvae are reared in water containing tetracycline and develop
normally into adult mosquitoes. When adult GM mosquitoes are released into the wild and breed with wild, non-
GM mosquitoes, their offspring inherit the lethality gene. Without tetracycline in the environment to protect
them, the offspring die. 



In one study, Oxitec scientists released GM mosquitoes into a neighborhood in Brazil. Sustained release over the
course of a year led to a reduction of the local Aedes aegypti population by 80% to 95% according to different
measures (Carvalho et al., 2015). The scientists chose densely populated neighborhoods for their study because
mosquito-borne diseases can spread most easily in areas where lots of humans and mosquitoes are present. They
hypothesized that if they could reduce both the population size of the A. aegypti mosquitoes and the mosquito
population density, they would reduce the probability that a person becomes infected with a pathogen spread by
these mosquitoes. (An activity that shows how scientists measure mosquito density, based on data from Oxitec
scientists, is available on the BioInteractive website as “Tracking Genetically Modified Mosquitoes.”) 

What is the tone of the passage?

Correct Option - 1

Informative1.
Humorous2.
Sarcastic3.
Apologetic4.
Biased5.

Que. 17 Which of the following is not correct according to the passage?

Correct Option - 1

Malarial fever is caused by a virus transmitted to humans primarily by the bite of Aedes aegypti
mosquitoes.

1.

The fluorescence gene is used to identify GM mosquitoes.2.
The lethality gene, which is more accurately called tetracycline transcriptional activator variant (or
tTAV), encodes a protein that blocks transcription of several other genes that are essential to mosquito
development.

3.

Oxitec scientists released GM mosquitoes into a neighborhood in Brazil.4.
none of the these5.

Que. 18 Choose the synonym for the word 'transcription' given in the passage?

Correct Option - 2

introduction1.
copy2.
variation3.
induction4.
None of these5.

Que. 19 Which of these is antonym to the the word 'sustained' given in the passage?

nourished 1.
sporadic2.
back3.
relieved4.



Correct Option - 2

none of these5.

Que. 20 Which of these words can be filled in the blank given in the passage?
The fluorescence gene is used to_________GM mosquitoes.

Correct Option - 3

mollify1.
quatify2.
identify3.
rectify4.
No word required5.

Que. 21 Which of the following is a suitable title for the passage?

Correct Option - 2

Mosquitoes and Zika virus1.
Genetically modified mosquitoes2.
Symptoms of mosquito-borne diseases3.
The connection between Brazil and mosquitoes4.
None of these5.

Que. 22 Which of the following is not correct according to the passage?

Correct Option - 2

The scientists chose densely populated neighborhoods for their study because mosquito-borne diseases
can spread most easily in areas where lots of humans and mosquitoes are present

1.

Sustained release over the course of a year led to a reduction of the local Aedes aegypti population by
90% to 95% according to different measures 

2.

Symptoms in infected human adults are typically mild, but if the virus infects a pregnant woman it can be
transmitted to the developing fetus and affect brain development, causing a condition called
microcephaly.

3.

GM mosquito larvae that produce the tTAV protein die before reaching maturity.4.
None of the above5.

Que. 23 Which of the following is not correct according to the passage?

In the lab, the GM mosquito larvae are reared in water containing tetracycline and develop normally into
adult mosquitoes.

1.

When adult GM mosquitoes are released into the wild and breed with wild, non-GM mosquitoes, their
offspring inherit the lethality gene. Without tetracycline in the environment to protect them, the offspring
die.

2.



Correct Option - 4

They hypothesized that if they could reduce both the population size of the A. aegypti mosquitoes and
the mosquito population density, they would reduce the probability that a person becomes infected with a
pathogen spread by these mosquitoes.

3.

However, the tTAV carbohydrate cannot prevent the transcription of other genes when it is bound to the
antibiotic tetracycline.

4.

None of these5.

Que. 24 Which is the synonym of the word diseases?

Correct Option - 2

Fitness1.
Malady2.
Heartiness3.
Robustness4.
None of these5.

Que. 25 Which of the following is an antonym of the word accurately? 

Correct Option - 3

Correctly1.
Precisely2.
Loosely3.
Exactly4.
None of the above5.

Que. 26 In the following sentence, four words have been printed in bold. One of these words might either
be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘No error’ as your answer.
Football is a game which originated in the public schools of England and it has consistently maintained its
popularity with the changed times. 

Correct Option - 4

originated1.
consistently2.
popularity3.
changed4.
No error5.

Que. 27 In the following sentence, some words of the sentence have been printed in bold. One of the
emboldened words is not acceptable in Standard English. Pick up that part and mark its

number. If there is no error in the bold parts, mark (5)  i.e. 'no error' as the answer.



Our inner ear contains semicircular canals and vestibules which help to provide stability and help us in keeping
our ballance.

Correct Option - 4

contains1.
semicircular2.
vestibules3.
ballance4.
no error5.

Que. 28 In the following sentence, four words have been printed in bold. One of these words might either be
wrongly spelt or inappropriate in the context of the sentence. Find out the word that is inappropriate or

wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in the context of the
sentence then mark (5) i.e. ‘No error’ as your answer.
The old man had been to all the courts in the country and exhausted all his appealing in the process. 

Correct Option - 4

man1.
courts2.
process3.
appealing4.
No error5.

Que. 29 In the following sentence, four words have been printed in bold. One of these words might either
be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘all correct’ as your answer.
Decades-old advice about alcohol has recently come under fire, with two recent studies sugesting that even a
moderate drinking habit may raise the risk of early death.

Correct Option - 3

Decades1.
Recently2.
Sugesting3.
Moderate4.
All correct5.

Que. 30 In the following sentence, four words have been printed in bold. One of these words might either
be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘all correct’ as your answer.
The state has sought to boost this component of the prime minister’s scheme by launching a separate public-
private partnership modal of affordable housing in January.

Sought1.



Correct Option - 3

Launching2.
Modal3.
Affordable4.
All correct5.

Que. 31 Select the number that can replace the question mark (?) in the following series.
6, 3, 3, 4.5, 9, 22.5, ?

Correct Option - 3

65.51.
63.252.
67.53.
904.
455.

Que. 32 Select the number that can replace the question mark (?) in the following series.
?, 600, 3000, 12000, 36000, 72000

Correct Option - 2

501.
1002.
1203.
1504.
2005.

Que. 33 Select the number that can replace the question mark (?) in the following series.
3, 10, 41, 206, ?, 8660

Correct Option - 4

42371.
10002.
12003.
12374.
43205.

Que. 34 Select the number that can replace the question mark (?) in the following series.
107, 105, 102, 97, 90, 79, ?

701.
662.
683.



Correct Option - 2

674.
625.

Que. 35 Select the number that can replace the question mark (?) in the following series.
6, 8, 14, 26, 46, ?, 118 

Correct Option - 5

701.
652.
533.
784.
765.

Que. 36 A can do a work in 20 days and B can do the same work in 20% less time taken by A. A and B start
working together, then find in how much time 80% of the total work will get completed.

Correct Option - 2

1. 8 days1
9

2. 7 days1
9

3. 5 days1
9

4. 6 days1
9

None of these5.

Que. 37 A invested some amount of money in a scheme and B invested Rs. 100 more than the money invested
by A in the same scheme at the rate of 10% per annum compounded annually for 2 years. If the total

compound Interest is Rs. 189, then find the amount invested by A.

Correct Option - 2

Rs. 3001.
Rs. 4002.
Rs. 5003.
Rs. 6004.
None of these5.

Que. 38 The ratio of age of father to the age of son 5 years ago was 7 : 2 and the ratio of their age after 10 years
will be 2 : 1. Find the present age of father(in years).

401.
452.
503.
354.



Correct Option - 1

None of these5.

Que. 39 A woman spends 10% of her salary in household expenses. Out of the remaining she spend 10% in
mutual funds and 50% in transportation expenses. If the amount invested in mutual funds is Rs. 450.

Then find the amount spend in transportation.

Correct Option - 4

Rs. 25001.
Rs. 18502.
Rs. 27503.
Rs. 22504.
None of these5.

Que. 40 Train A of length 280 m can cross a platform of length 360 m in 32 seconds and the ratio of speed
of train B to train A is 3 ∶ 2. Find the length of train B, if train B cross a man in 30 seconds. 

Correct Option - 4

500 m1.
600 m2.
700 m3.
900 m4.
None of these5.

Que. 41 What value should come in place of the question mark ‘?’ in the following question?
(√64) × 150% - 88 ÷ 22 = ?

Correct Option - 2

61.
82.
33.
24.
125.

Que. 42 What value should come in place of the question mark ‘?’ in the following question?
(√121) + (∛216) ÷ 2 × 15 = ?

421.
842.
563.
454.
345.



Correct Option - 3

Que. 43 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 5

=?12 × 25 − 11 × 23

− 140122

2121.
1062.
843.
– 844.
535.

Que. 44 What value should come in place of the question mark ‘?’ in the following question?
48 - 55 ÷ 5 × 11 + √289 = ?

Correct Option - 4

151.
72.
553.
-564.
-445.

Que. 45 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 2

= ?
[22 + (7 + 3) ÷ 5] × 28

43

1061.
962.
883.
1324.
685.

Que. 46 What value should come in place of the question mark ‘?’ in the following question?

= ?
− 525 ÷ 35484√

× 7 − 2164√
3

31.
-12.
-23.
14.



Correct Option - 4

25.

Que. 47 What value should come in place of the question mark ‘?’ in the following question?
∛1728 – √49 × ∛125 + ? = √484

Correct Option - 3

841.
1252.
453.
444.
1215.

Que. 48 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 4

= ?
[(99 × 11) ÷ 3] × ×41/2 729√3

27

5241.
2542.
1213.
2424.
4235.

Que. 49 What value should come in place of the question mark ‘?’ in the following question?
(77 × 11 ÷ 7 + 2) ÷ ∛27 = ?

Correct Option - 2

361.
412.
473.
514.
665.

Que. 50 What value should come in place of the question mark ‘?’ in the following question?
20% of 1800 + 60% of 900 = ?

12001.
9002.
10003.
8004.
7005.



Correct Option - 2

Que. 51 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 - 5x + 6 = 0 
II. y = ∛8

Correct Option - 3

x > y1.
x < y 2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 52 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 – 6x + 8 = 0

II. y2 – 8y + 15 = 0

Correct Option - 5

x > y1.
x < y 2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 53 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 – 5x – 24 = 0

II. y2 – 3y – 40 = 0 

Correct Option - 5

x > y1.
x < y 2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 54 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-



I. x2 + 9x + 14 = 0

II. 2y2 + 7y + 6 = 0

Correct Option - 4

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 55 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 – 9x + 20 = 0

II. y2 – 3y – 4 = 0

Correct Option - 3

x > y1.
x < y 2.
x ≥ y3.
x ≤ y4.
x = y or relationship between x and y cannot be established5.

Que. 56 The average age of three persons A, B and C is 25 and the average age of A and B is 24. Find the age
of C.

Correct Option - 4

29 years1.
25 years2.
24 years3.
27 years4.
30 years5.

Que. 57 The average of 11 numbers is 33. If the average of first six numbers and the last six numbers are 25.5
and 40.5 respectively, then find the sixth number.

Correct Option - 2

341.
332.
353.
364.
None of these5.



Que. 58 The ratio of milk and water in a mixture is 5 : 4. If 45 liters of the mixture is taken out and replaced by
the same amount of water then the ratio of milk and water becomes 5 : 7. Find the amount of milk in

original mixture. 

Correct Option - 1

100 liters1.
80 liters2.
90 liters3.
75 liters4.
None of these5.

Que. 59 The average cost price of two shirts A and B is Rs. 400 and the profit percent on these shirts are 10%
and 20% respectively. If the total selling price of these shirts is Rs. 928, then find the cost price of shirt

B.

Correct Option - 3

Rs. 3601.
Rs. 3202.
Rs. 4803.
Rs. 4204.
None of these5.

Que. 60 The distance covered by a boat in 4 hour 48 minutes is 7800 km in downstream. If the ratio of speed of
stream and the speed of boat in still water is 2 : 3. Find the upstream speed of boat.

Correct Option - 4

280 km/hr1.
270 km/hr2.
375 km/hr3.
325 km/hr4.
None of these5.

Que. 61 Directions: Read the following table carefully and answer the questions given below.
The following table shows the number of males and females living in 5 different societies A, B, C, D

and E.
 

Societies Male Female
A 200 250
B 350 500
C 250 300
D 300 150
E 400 200



Find the total number of persons living in society B and D together.

Correct Option - 4

12001.
12502.
13503.
13004.
11005.

Que. 62 Find the ratio between the number of males in society C to the number of females in society E.

Correct Option - 2

3 : 51.
5 : 42.
4 : 93.
5 : 34.
2 : 35.

Que. 63 Number of males living in society D is what percent of the number of females living in society B?

Correct Option - 5

20%1.
25%2.
75%3.
66.66%4.
60%5.

Que. 64 What is the difference between the total number of persons living in society A and the total number of
persons living in society C?

Correct Option - 2

1501.
1002.
2003.
504.
Nil5.

Que. 65 Number of females living in society D is how much percent less than the number males living in
society A?

20%1.
33.33%2.
25%3.



Correct Option - 3

10%4.
40%5.

Que. 66 Direction: Read the following and answer the given questions.
In a certain coding language,

‘House Near Park Stand’ is coded as ‘BA HG JK FP’.
‘Stand here famous House’ is coded as ‘JK EH HG SA’.
‘Boat here Near House’ is coded as ’HG BA SA TB’.
What does the code for “Near”?

Correct Option - 5

FP1.
TB2.
SA3.
HG4.
BA5.

Que. 67 What does the code for “here”?

Correct Option - 1

SA1.
HG2.
BA3.
TB4.
EH5.

Que. 68 What does ‘HG’ mean in that code language?

Correct Option - 5

Near1.
Stand2.
Park3.
Boat4.
House5.

Que. 69 What does the code of “famous”?

BA1.
HG2.
EH3.
TB4.



Correct Option - 3

FP5.

Que. 70 Direction: Study the information given below carefully and answer the questions that follow.
There are eight persons Amar, Bala, Chetan, Deenu, Girish, Teena, Geeta, and Harish are sitting around

a circular table facing towards the centre but not necessarily in the same order. Girish is sitting third to the left of
Teena who is second to the right of Amar. Harish is sitting exactly between Chetan and Geeta who is second to
the right of Teena. Bala and Harish are not immediate neighbors of Amar.

Who is sitting fifth to the right of Teena?

Correct Option - 3

Amar1.
Harish2.
Girish3.
Bala4.
Deenu5.

Que. 71 Who is sitting exactly between Geeta and Teena when counted in a clockwise direction from Geeta?

Correct Option - 1

Bala1.
Harish2.
Amar3.
Chetan4.
Deenu5.

Que. 72 Who is sitting third to the left of Amar?

Correct Option - 2

Deenu1.
Harish2.
Teena3.
Chetan4.
Bala5.

Que. 73 Who are the immediate neighbors of Deenu?

Bala, Teena1.
Harish, Girish2.
Chetan, Bala3.
Girish, Amar4.
Amar, Teena5.



Correct Option - 5

Que. 74 Who is facing Geeta?

Correct Option - 4

Chetan1.
Girish2.
Deenu3.
Amar4.
Harish5.

Que. 75 Directions: In the question, assuming the given statements to be true, find which of the conclusion (s)
among given two conclusions is /are definitely true and then give your answer accordingly.

Statement:
K > O > P > M < G = D
Conclusions:
I. K > M
II. O = M

Correct Option - 2

Only conclusion II follow.1.
Only conclusion I follow.2.
Both conclusion I and II follow.3.
Either conclusion I or II follow.4.
None Follows.5.

Que. 76 Directions: In the question, assuming the given statements to be true, find which of the conclusion (s)
among given two conclusions is /are definitely true and then give your answer accordingly.

Statement:
H < A < T = G > U ≥ V ≥ B
Conclusions:
I. T > B
II. G > H

Correct Option - 3

Only conclusion I follow.1.
Either conclusion I or II follow.2.
Both conclusion I and II follow.3.
Only conclusion II follow.4.
None Follows.5.



Que. 77 Directions: In the question, assuming the given statements to be true, find which of the conclusion (s)
among given two conclusions is /are definitely true and then give your answer accordingly.

Statement:
R = Y = P > S ≥ H < F ≤ C = M
Conclusions:
I. R > M
II. H = M

Correct Option - 3

Only conclusion I follow.1.
Only conclusion II follow.2.
None Follows.3.
Either conclusion I or II follow.4.
Both conclusions I and II follow.5.

Que. 78 Directions: In the question, assuming the given statements to be true, find which of the conclusion (s)
among given two conclusions is /are definitely true and then give your answer accordingly.

Statement:
B = K ≥ H = T > U ≤ I
Conclusions:
I. H > I
II. H ≤ I

Correct Option - 4

Only conclusion II follows1.
Only conclusion I follows2.
Both conclusion I and II follow.3.
Either conclusion I or II follow.4.
Neither I nor II follows5.

Que. 79 Directions: In the question, assuming the given statements to be true, find which of the conclusion (s)
among given two conclusions is /are definitely true and then give your answer accordingly.

Statement:
A > G < T < U ≤ W = P > Y
Conclusions:
I. A < P
II. T < Y

Neither conclusion I nor II follows1.
Only conclusion I follows2.
Only conclusion II follows3.
Both conclusion I and II follow4.
Either conclusion I or II follows5.



Correct Option - 1

Que. 80 How many pairs of letters are there in the word “INSTANCE” each of which has as many letters
between them as in the English alphabetical series in both forward and backward directions?

Correct Option - 4

One1.
Two2.
Three3.
More Than Three4.
None5.

Que. 81 Direction: Read the following information carefully and answer the given questions
In a bank meeting, the eight bank employees Q, R, U, P, D, H, L, and C hold different positions -

Managing Director (MD), Executive Director (ED), Chief General Manager (CGM), General Manager (GM),
Assistant General Manager (AGM), Divisional Manager (DM), Marketing Officer (MO) and Clerk but not
necessarily in the same order. All the positions are in increasing order where Clerk is junior to all and MD is
senior to all.
U is just one position senior to R. D is junior to Q. Q is senior to only three persons. L is neither Chief General
Manager nor Managing Director. P is senior to Divisional Manager but junior to Managing Director. H is not
junior to P. D is not the most junior. C is an Executive Director.

What is the position of Q?

Correct Option - 5

Clerk1.
Managing Director2.
Executive Director3.
Divisional Manager4.
None of these5.

Que. 82 Find the odd one out.

Correct Option - 1

Managing Director - P1.
Assistant General Manager - Q2.
Divisional Manager - D3.
Clerk - R4.
Executive Director - C5.

Que. 83 Who is the most senior among them?

P1.
U2.



Correct Option - 4

C3.
H4.
Q5.

Que. 84 Who is at the position of Chief General Manager?

Correct Option - 3

L1.
C2.
P3.
R4.
Q5.

Que. 85 What is the position of L?

Correct Option - 1

General Manager1.
Manaing Director2.
Chief General Manager3.
Clerk4.
None of these5.

Que. 86 If the positions of the first and second letters of the word DESPERATELY are interchanged; similarly
the positions of the third and fourth letters are interchanged and so on, then which of the following

letters will be 8th from the left end after arrangement?

Correct Option - 5

R1.
S2.
E3.
T4.
A5.

Que. 87 Directions: In the question below are given two statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
All green are white.
Only a few white are black.
Conclusion:



I. All white are black is a possibility.
II. Some green are black.

Correct Option - 4

Both conclusions I and II follow1.
Only conclusion II follows.2.
Either conclusion I or II follows3.
None follows.4.
Only conclusion I follows.5.

Que. 88 Direction: In the question below are given two statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Some goal are happen.
No happen are sure.
Conclusion:
I. Some goal are not sure.
II. Some happen are not sure.

Correct Option - 1

Both conclusions I and II follow1.
Only conclusion II follows2.
Either conclusion I and II follows3.
None follows4.
Only conclusion I follows5.

Que. 89 Direction: In the question below are given two statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Only few pens are pencil.
Some pencil are book.
Conclusion:
I. All books being pen is a possibility.
II. No book is pencil.

Both conclusions I and II follow1.
Only conclusion II follows2.
Either conclusion I and II follows3.
Only conclusion I follows4.
None follows5.



Correct Option - 4

Que. 90 Direction: In the question below are given two statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
No desk are chair.
Only few chairs are Cooler.
Conclusion:
I. No coolers are desk.
II. Some chairs are not desk.

Correct Option - 2

Both conclusion I and II follow1.
Only conclusion II follows2.
Either conclusion I or II follows3.
Only conclusion I follows4.
None follows5.

Que. 91 Direction: In the question below are given two statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
All laptops are black.
All blacks are pink.
Conclusion:
I. All laptops are pink.
II. All blacks are laptop.

Correct Option - 5

Only conclusion II follows1.
None follow2.
Either conclusion I or II follows3.
Both conclusions I and II follows4.
Only conclusion I follows5.

Que. 92 Read the following information carefully and answer the questions which follow.
Point B is 2 km to the east of point A. Point C is 3 km north of point A. Point E is 4 km to the north of

Point D, which is 4 km to the east of Point C. Point H is exactly midway between point A and point I. The point I
is 10 km to the west of point A. Point F is 9 km to the south of point A. Point G is 5 km to the west of point F.
Distance between B and I is _______.



Correct Option - 2

10 km1.
12 km2.
14 km3.
15 km4.
16 km5.

Que. 93 What is the minimum distance between G and H?

Correct Option - 4

5 km1.
10 km2.
3 km3.
9 km4.
15 km5.

Que. 94 What is the direction of D with respect to I?

Correct Option - 2

North1.
North East2.
South3.
South West4.
None of these5.

Que. 95 What is the minimum distance between A and D?

Correct Option - 1

5 km1.
3 km2.
2 km3.
4 km4.
6 km5.

Que. 96 Direction: Read the following information carefully and answer the given questions
Eight people K, P, T, J, M, U, B, and F are going on a trip one after another. Two persons are going

between F and K. No one is going after P. K is going after B. T is going just before U. K is not going just before
P. The number of persons is going before B is same as the number of persons who are going after K. F is going
just after M.
If all the people will go in alphabetical order then who will be the last one?

B1.
J2.



Correct Option - 4

P3.
U4.
T5.

Que. 97 How many persons are going before K?

Correct Option - 4

One1.
Two2.
Three3.
More than three4.
No one5.

Que. 98 How many persons are going between B and U?

Correct Option - 2

One1.
Two2.
Three3.
More than three4.
No one5.

Que. 99 Find the odd one out.

Correct Option - 5

JK1.
MJ2.
FB3.
TP4.
BU5.

Que. 100 Which of the following person/s are going after J?

Correct Option - 3

B1.
K2.
B and K3.
J and F4.
M5.
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